Yri28FE SHi

RERBEAN—VYHEFERSINN ®WES

No i = gz | Gae | dva | IR ShE A BMEBNE | AL LRSS ) SR | e
= os = pod :
& 60 63 553 652 335 1,748 2,083 2,438 85.4 2,498 10,761 13,259 12,914 102.7
= 37 35 346 348 98 864 962 1,045 92.1 815 6,240 7,055 7,909 89.2
1 BHESHERE # 61 56 572 463 302 1,882 2,184 1,726 126.5 2,253 10,469 12,722 10,741 118.4
=3 56 57 527 514 269 1,320 1,589 1,776 89.5 2,082 8851| 10,933 11,539 94.7
& s 214 211 1,998 1,977 1,004 5,814 6,818 6,985 97.6 7.648|  36,321| 43,969 43,103 102.0
O RUSINEL (N)
NU—ZVT)b—LA BIEFEE BISELL
45 5H 65 75 85 95 108 118 128 15 25 35 :
R k! 22 23 11 23 11 19 16 15 8 31 16 15 210 273 76.9
A 25 26 13 29 12 23 17 18 10 33 17 17 240 322 74.5
B (- k! 8 2 2 4 2 2 7 1 1 3 1 3 36 46 78.3
A 8 2 3 5 2 2 7 1 1 4 1 3 39 49 79.6
. s o2 30 25 13 27 13 21 23 16 9 34 17 18 246 319 77.1
N 33 28 16 34 14 25 24 19 11 37 18 20 279 417 66.9
MEHE - BBEE B B N B EAIES @ % SMNEH ARVEE H H O % SNNEH
1 |mmEmnr s 6/7 \FL =i - EA 1 182 1 ZUMBAERIN 7 2/ S— 7 £5D2016 6558 1 309
2 @Rt 6/11 i, 1 Y EiR - HR 1 40 2 LAILT y TSHREBA2016 1214 3 81
3 |BEA)NSEIEERT 6/24 BFL KE - 5hL 1 96 3 759 Y AREAINTRER LA 7858 1 138
4 |KmE EERT 7/2 JO07h—UvT E1R 1 51 & s 5 528
5 |BEBFRNNERIEERTF 7/8 —1—RKh—Y SR - B0 1 96 BIFESET |-
6 B ~6EE 7/15 Ya3—hFI2R =R - BN 1 118
7 |BEmAl SRS EERT 9/2 JO07h—UvT =i - AHE 1 96 : 2T 1A O % | sHE%
8 |mlleki6eEL: 9/9 —1—2k—w KE - it 1 48 21 216
9 |EER) SR FERT 9/16 \FLO =R -+ 1 114
10| @@EIPTAI ~6252 1019 |707H—uvo i : 48 FHi28FE SHESHEE - I
1 31 ERELLELE SO 1220  |emu= ShLL - L : 30 AN—YBEEEIRET RUEFLY
12 [HURVF T H—ER 1/25 RIVVITIHHAR ke 1 13 5
13|@@1sREHRS 3/13 REH= =i 1 21 TR ER 234 229 102.2
14 |@@E=RES 3/16 RNBVNBHZT - R 1 18 10
& &t 14 971 s AN 2,284 2,274 100.4
MRSt 16 887 1,578
WIENSIIEE (N) 45,963 44 385 103.6




\[7 2\ 7= R H
YRy 28 HE & - E AR—VYEHESINKRREE 2016/10/23
EHRESHEE KE B 1/4R—
1 zm#E (N) IE_SMNE (N) RIS
No. B OE 4 [ 44 E B Z Akl
INEIES B L8 At FHOA 2R 5 L8 At HESE | & W
HNnE WX 7 4w F R A 10 30 Cik 13 35 99 285 384 80. 0% 69. 0 116, 600
2| - 7= v ftEE 10 30 o 5 39 47 286 333 75. 7% 72.6 79, 200
R = AV 4 30 B 0 30 0 106 106 88. 3% 61.8 128, 000
NTG U RAaA—F 4 F—3 39 GRS 0 15 15 50. 0% 50, 800
4 10 30 0 128 128 85. 3% 60. 1
IREIEZS 0 0 0
5|8 7 4 X 10 30 iR 1 29 30 - 10 241 251 83. 7% 57.7 130, 000
PREFACD 10 30 B 6 21 27 90. 0% 53 169 222 82. 2% 47.0 119, 500
71Z UMB A /K 10 30 B 3 34 37 - 19 281 300 81. 1% 51.0 165, 500
X Fder 2P Y4 X SGN 3 17 20 66. 7% 49, 800
8 7 30 13 100 113 80. 7% 67.0
IREIES 0 0 0
9l Ly~ v hiEH) 10 10 iR 8 5 13 - 76 49 125 96. 2% 8.5 58, 500
10|/kE = 19 10 30 ik 2 25 27 90. 0% 5 184 189 70. 0% 47.2 121, 000
11| = #7720 10 30 & 1 24 25 83. 3% 8 192 200 80. 0% 46. 4 112, 000
12|Z UMB A K 10 30 iR 1 39 40 - 7 335 342 85. 5% 51.1 176, 000
BIZ LD TDOIZWRTZRREED (v XH U R) 10 20 G N 0 14 14 70. 0% 0 129 129 92. 1% 9.9 37, 800
14| KE 3 H (&) 10 30 i 2 29 16 223 239 77. 1% 46. 5 139, 000
I5|ZUMBA Z—/L 10 30 iRt 1 30 10 247 257 82. 9% 63.5 132, 500
lhwxnwxzo—prr—=27 10 30 B 5 31 42 259 301 83. 6% 67.7 118, 000
R by (B) SN 0 17 17 56. 7% 75, 500
17 10 30 0 136 136 80. 0% 55. 1
INEIES 0 2 2 1,200
Bzre—&=a 7 rr—=7 10 30 S 5 23 28 93. 3% 35 170 205 73. 2% 50. 4 123, 500
9|77 %A 10 30 ik 0 31 0 256 256 82. 6% 61.5 132, 000
W00 LHTHTIFTH LA 10 30 S 0 33 0 296 296 89. 7% 62.0 138, 000
[F EFT U H A 10 30 iR 0 25 25 83. 3% 0 195 195 78. 0% 47.7 112, 000
Kt (XA F—H 2 R) 18 2 20 22 73. 3% 55, 800
22 10 30 20 181 201 91. 4% 61.7
1 [\ 0 1 1 600
ED e 5 P73 G 0 16 16 53. 3% 54, 800
23 10 30 0 140 140 87. 5% 59. 1
1 [\l 0 0
24| F T 4 A 10 30 B 2 30 15 255 270 84. 4% 59. 7 140, 500
WBIL——Fy b (AT H) K 10 30 B 1 25 26 86. 7% 9 201 210 80. 8% 58. 3 113, 000
N—y =Xy hr (243 7) K .
26 . 10 30 S 0 25 25 83. 3% 0 220 220 88. 0% 57.7 108, 500
KIERBFEHY
2113 L b v (%) 10 30 iRt 0 36 0 304 304 84. 4% 45, 2 161, 500
28 |4 |if D K A% 20 25 B 11 24 187 406 593 84. 7% 69. 4 166, 400
29| D K% 20 25 o 6 22 82 327 409 73. 0% 64. 6 141, 600
2/4R—
1 zm#E (N) IE_SMNE (N) RIS
No. B OE 4 EIfx's E B Z Ak
INEIEZS B L8 At FHOA 2R 5 L8 At HESE | & W
30|V 7 h=T7rubE s R (R BEHARRS 1 50 Gkt 1 26 27 1 26 27 0
V7 hrubs zx(R) SN 1 27 28 56. 0% 94, 000
31 10 50 5 226 231 82. 5% 58.5
1 [\ 1 12 13 7, 800
2|7 v &R 7 YV EEHARR S 1 50 o 4 39 43 86. 0% 4 39 43 0
TT7a &R Y 18 5 43 48 96. 0% 164, 800
33 10 50 53 351 404 84. 2% 48.9
1 [\ 8 34 49 25, 200
34| — VR — L EER 10 40 iR 11 8 19 47. 5% 97 66 163 85. 8% 71.0 92, 400
35|00 - WIkE HER 10 40 B 11 16 27 67. 5% 97 126 223 82. 6% 67. 4 130, 200
36 | Ak BLER (42) AR Ri 10 60 8 H 33 39 72 - 278 344 622 86. 4% 70. 9 349, 200
37(H Rk ELER (&) 414 10 60 iR 15 25 40 66. 7% 123 204 327 81. 8% 68. 6 196, 200
38| LAk 5ELER (UK) AFai 10 60 S 25 29 54 90. 0% 202 243 445 82. 4% 69. 2 260, 000
39 Ak BLER OK) 1% 10 60 S 27 33 60 - 237 277 514 85. 7% 70. 4 289, 400
a7 = 7 RER S TR X e 3 .
40 3 24 iR 6 27 33 137. 5% 15 72 87 87. 9% 51.0 0
1)
A1 —de 7 4 v bR AEHAERS 1 30 iR 5 26 31 0 5 26 31
S de 1 v bR Wi | | s [ 147,000
42 10 30 69 273 342 90. 0% 65. 0
1 [A] % 5 1 6 3, 500
43| o 78 D ATk 10 72 0 9 39 48 66. 7% 78 348 426 88. 8% 65. 0 240, 000
MIFHOKKEFE LD Ta—R 10 10 O 3 5 8 80. 0% 10 29 39 48. 8% 63.3 18, 000
A5 F % oKk e —L « HikE a— 20 10 10 Gl 3 12 15 18 102 120 80. 0% 68. 0 33, 750
46| 7% DKk T — L« HIKE a— @) 10 10 GRS 5 10 15 40 82 122 81. 3% 66. 4 32, 000
4717 A bR EKE = — A 10 10 8 1 6 7 70. 0% 10 45 55 78. 6% 65.5 15, 750
48| D K Pk Bk 1 =2 — A 10 10 IR 3 9 12 - 22 74 96 80. 0% 64.3 27, 000
T T YA R (k) iK1 2 34 36 72. 0% 136, 500
49 10 50 24 271 295 81. 9% 63.9
1 [\]% 5 4 9 4,900
TOT YA R (1) PGiN- 6 48 54 - 230, 000
50 10 50 46 383 429 79. 4% 58.9
1 [\ % 0 7 7 4,900
Sl =7 T =2ART v I T v 7T a—2x (K) 10 10 o 8 5 13 72 48 120 92. 3% 68. 1 107, 000
BT = ART v T v T a—2x (k) 10 10 o 5 6 11 45 54 99 90. 0% 60. 9 94, 000
B3| =T T =2 2ART v I T vy T a—2Ax (K) 10 10 O 4 6 10 38 57 95 95. 0% 66. 0 83, 000
54|17 = A7 KN Z2a—2Z (7K) 10 10 B 6 11 17 58 96 154 90. 6% 60. 3 146, 000
5|l =7 F =R LEa— A (K) 10 10 B 3 11 14 29 92 121 86. 4% 61.5 120, 000
567 = AHLE a2 — R (&) 10 10 B 1 10 11 8 89 97 88. 2% 48. 2 96, 000
S| T = ART T T vy T a—2A (&) 10 10 W 4 7 11 37 62 99 90. 0% 60. 1 94, 000
TN HE 0 0 0 0. 0%
58 3 100 24 254 278 0. 0% 51.0
1 [\ % 24 254 278 110, 800
o A I O O SN S 0 9 9 2, 700
59 3 - 0 79 79 0. 0% 51.0
1 [\ 0 70 70 21, 000
RE—X R ik 0 0 0 0. 0%
60 3 15 0 22 22 0. 0% 36.0
1 [\ 0 22 22 22,000
[&] 65 (@) 335 1, 748 2,083 2,498 | 10,761 | 13,259 6, 658, 100
3/4R—
1 zm#E (N) E~_SMNE (N) RIS
No. H OE 4 [ £ E B Sk
INEIES B L8 At FHOA 2R B L8 H HESE | & W
61| 7=V fdFE 10 30 o 4 34 38 - 25 256 281 73. 9% 72.0 72, 400
SFUR AT Y AR B 0 26 26 86. 7% 123, 400
62 10 30 0 223 223 85. 8% 63.0
1 [\ 0 5 5 3, 000
NI Aa—F 4 x— 3 ik 0 13 13 43. 3% 49, 100
63 10 30 0 120 120 92. 3% 64. 3
1 [\ 0 4 4 2,400
FHET 7Y A4 X S 1 21 22 73. 3% 104, 600
64 10 30 8 184 192 87. 3% 58. 7
1 [\ 0 6 6 3, 600
65| kIE 3 H (%) 10 30 8 6 24 30 57 197 254 84. 7% 46. 9 147, 900
66|Z UMB A /i 7 30 o 2 33 35 10 167 177 72. 2% 51.3 119, 450
2 FNdent 2P 7 YW A4 R B 2 19 21 70. 0% 58, 100
67 7 30 13 111 124 84. 4% 66. 6
1 [\ 0 0
68| Kt~ v NIEH) 10 10 e 9 10 86 93 179 94. 2% 8.1 94, 000
69|7KME = #7719 10 30 iR 1 33 4 235 239 70. 3% 47.0 168, 200
T0|7K W2 = 7720 10 30 iR 1 27 8 204 212 75. 7% 46. 5 138, 200
711Z UMB A KM 7 30 iR 2 44 12 256 268 83. 2% 51.1 151, 250
20X O TR TR (v XX R) 10 20 SGN 0 13 0 116 116 89. 2% 9.9 37, 800
73| KK 3 5 (%) 10 30 B 1 31 8 264 272 85. 0% 45. 1 157, 600
74| ZUMBA=IT—/L R 7 30 ikt 1 32 5 200 205 88. 7% 64. 0 108, 500
HBlnxnwxzn—hLr—=2 7 10 30 W 3 28 28 235 263 84. 8% 67.0 112, 200
N by (B) 0 0 13 13 43. 3% 64, 200
76 10 30 0 112 112 86. 2% 52.1
1 [\]% 0 5 5 3, 000
Mz —&=a7r1r—=27 10 30 o 4 21 25 83. 3% 34 135 169 67. 6% 50.5 121, 000
BlNEWNWET 4w R 10 30 iR 11 35 46 - 86 290 376 81. 7% 68.9 122, 400
9|77 5 A 10 30 iR 0 25 25 83. 3% 0 217 217 86. 8% 61.3 117, 400
lZ LD THT7T T XL A 10 30 GRS 0 33 33 - 0 290 290 87. 9% 61.9 152, 900
8I|ZF e FT XA 10 30 iR 0 24 24 80. 0% 0 198 198 82. 5% 48. 0 118, 000
Kl (XA F—H 2 R) iR 2 23 25 83. 3% 66, 900
82 10 30 20 176 196 78. 4% 63. 4
IREIE:S 0 2 2 1, 200
D E G DS SGN 1 17 18 60. 0% 65, 900
83 10 30 10 148 158 87. 8% 60. 2
INEIES 0 1 1 600
84|°F T ¢ & 10 30 ikt 2 30 32 - 19 249 268 83. 8% 58.9 153, 300
==Ky b (XA I H) KIE SN 1 24 25 83. 3% 119, 900
85 10 30 8 176 184 73. 6% 58. 6
1 [\ % 0 1 1 600
==Ky b (XAXKIH) RIEXBEEHD e
86 10 30 B 0 28 28 93. 3% 0 220 220 78. 6% 56.5 148, 600
87|31 kv () 10 30 S 0 37 37 - 0 284 284 76. 8% 46. 0 182, 300
Y — B A LT 7T YA (k) iR 3 29 32 64. 0% 57, 300
88 5 50 12 127 139 86. 9% 63. 7
1 [\ 0 1 1 600
e 5 A DT I T F A R (L) S 7 45 52 | 10404 195, 500
89 10 50 53 333 386 74. 2% 59. 4
1 [\]% 0 7 7 4, 200
4/4R—
1 zm#E (N) IE_SMNE (N) RIS
No. B OE 4 [ 44 E B Z Ak
INEIES B L8 At FHOA 2R B L8 H HESE | & W
WN|Iv=TT=2ART v I T v T a—2x (k) 10 10 o 7 5 68 38 106 88. 3% 68. 1 111, 300
NT=ART T v TFa—A (k) 10 10 G R 7 5 67 42 109 90. 8% 62.0 113, 100
RN =TT =2 ART T T v T a—x (K) 10 10 G N 6 6 58 58 116 96. 7% 67.8 108, 200
937 =27 R 23—z (/) 10 10 o 5 9 39 79 118 84. 3% 60. 3 134, 200
M| =T F = AYLFaT—R (K) 10 10 W 3 8 27 62 89 80. 9% 60. 0 106, 500
5|7 = AHLE a— 2 (4) 10 10 SR 1 8 9 90. 0% 7 60 67 74.4%|  48.6 88, 500
WG| T = ART v T T v T a—2A (&) 10 10 o 5 8 43 74 117 90. 0% 61.3 123, 200
NE—F A S 0 0
97 3 15 0 11 11 35.6
IREIE:S 0 11 11 11, 000
[B] &5 (@) 98 864 962 815 | 6,240 | 7,055 4,143,500
[&-H] A3t (DO+©®) 433 | 2,612 | 3,045 3,313 117,001 20,314 10,801,600
S ThU—ZvP)b—LFEBE] [HxTKK] [INEREBEHZE] (F. FREHRSECTHRSLET, SIS | 65mLALE
HANYPCDNTRL 2RV METH, ANV MESEE L CBIBHRELE T, AR 1 50%H
JT = 1 TEF = =S == ANE
SAMESIES () X BX X | ITEX | EX | BX X | IBsaX | mih | FDfB =E1l
154 2,376 3,159 9,148 | 3,657 151 866 38 681 84 20,314




\[7 W/ 2\ = YN H= T et
¥R 28 HE MMHEE RAR—VEHESIMARERSE TRI29% 18236
SEHHRESHBEE KE B 1/3R—Y
PGiN zmE (N) ERSINE (N) R S|
No. H = 4 [EIEx's =l 2k
INEIES B L8 it FHA SR 5B S S HES | £
o720 fltEE 10 30 8 3 36 39 - 21 280 301 77. 2% 71.0 78, 000
SFURLAT YA R SCER 0 19 19 63. 3% 84, 500
2 10 30 0 155 155 81. 6% 64. 6
1 [\ %% 0 3 3 1, 800
NG UAA—FT 4 X — 39 SCERS 0 18 18 60. 0% 69, 100
3 10 30 0 150 150 83. 3% 61.8
INEIE:S 0 0 0
TR A X N 1 22 23 76. 7% 109, 000
4 10 30 10 184 194 84. 3% 57. 4
1 [a] 0 7 7 4, 200
5[:kME g H (%) 10 30 0 8 25 33 72 179 251 76. 1% 49. 6 162, 000
6|7z UMB A ki 10 30 S 1 35 36 4 282 286 79. 4% 50. 1 179, 100
XA dern 3P 7 B A4 R s 1 18 19 63. 3% 48, 300
7 7 30 7 101 108 81. 2% 66. 3
1 [\ 0 0
sl b~ FEH 10 10 SEH 6 11 56 99 155 91. 2% 8.1 85, 000
9[kmE = #19 10 30 ikt 0 34 0 252 252 74. 1% 45. 6 169, 400
10| /KB 3 H'20 10 30 SN 2 31 15 240 255 77. 3% 45. 2 164, 500
11|ZUMB A KK 10 30 B 1 40 8 332 340 82. 9% 50. 8 198, 700
12[IZ LD TOIVRT-REY (v 2 F 2 R) 10 20 EE 0 13 0 119 119 91. 5% 9.9 39, 000
13| KKE T 5 (%) 10 30 N 1 34 9 270 279 79. 7% 45.3 174, 500
14|ZUMBA Z—/L R 9 30 R 2 37 16 257 273 77. 8% 62.5 167, 750
5l 2o — KL —=27% 9 30 S 4 29 29 209 238 80. 1% 66. 3 108, 520
NL kv (B) 1 H 0 15 15 50. 0% 60, 650
16 9 30 0 105 105 77. 8% 50.9
INEIES 0 4 4 2, 400
17| Ag—&za 7 hb—=7 9 30 EH 4 21 25 83. 3% 31 145 176 78. 2% 51. 1 109, 700
18|V\X WX 7 v FRA 10 30 18 10 34 44 - 81 261 342 77. 7% 68.5 118, 800
75K R ik 0 24 24 80. 0% 114, 000
19 10 30 0 213 213 88. 8% 60. 2
NEIES 0 0 0
0z TH7IH =% 10 30 SN 0 33 33 - 0 286 286 86. 7% 62. 3 153, 600
ReFT o HE A B 0 20 20 66. 7% 99, 400
21 10 30 0 172 172 86. 0% 47. 4
NEE:S 0 7 7 4, 200
KidE (XA F—H 2 R) B 2 23 25 83. 3% 70, 700
22 10 30 20 212 232 92. 8% 63. 4
1 [\ 0 6 6 3, 600
2/3—
PGk znE (N) FERSMEE (N) RO
No. # = 4 [ %4 E B Z e
INEIE:S W 58 #t FHOA SR B 'S & HEESR | 4 W
Ty A EFRYA Gk 0 13 13 43. 3% 49, 400
23 10 30 0 109 109 83. 8% 57.8
INEIE:S 0 2 2 1, 200
ulrsF 4 = 10 30 S 3 29 32 - 21 242 263 82. 2% 57.3 156, 500
==Ky b (BARTH) K B 1 28 29 96. 7% 141, 000
25 10 30 9 205 214 73. 8% 57. 1
NEE:S 0 5 5 3, 000
N—— Ky b (BARTH) K ik 0 27 27 90. 0% 144, 400
26 10 30 0 231 231 85. 6% 57.6
1[5 0 0 0
27( v kv (%) 10 30 iR 0 32 32 0 253 253 79. 1% 48. 1 159, 400
U IAPN TS HH 11 24 35 185, 600
28 20 25 102 248 350 50. 0% 69. 8
INEIE:S 0 0 0
T 1% D K K G 5 20 25 141, 600
29 20 25 49 196 245 49. 0% 64. 4
NEE:S 0 0 0
30|V 7 F 7 m B Y 2 (R MEHARS 1 50 B 1 27 28 56. 0% 1 27 28 100. 0% 51.0 0
V7 h7Tab s 2 (R) W 1 28 29 58. 0% 106, 400
31 10 50 1 238 239 82. 4% 60.5
1 [\ 0 13 13 7, 800
2(=7 v &R 7 Y- mEHAER S 1 50 8 6 37 43 86. 0% 6 37 43 100. 0% 51.0 0
=7 a&RT Y SGiNH 6 43 49 98. 0% 193, 800
33 10 50 48 335 383 78. 2% 46. 7
NEES 6 13 19 11, 400
34| 5 — VR — L EHER 10 40 SN 10 6 16 40. 0% 88 48 136 85. 0% 71. 1 86, 800
35| E - WA BLER 10 40 G N 11 12 23 57. 5% 95 112 207 90. 0% 67. 1 126, 000
36| bRk E EHER (42) A-Hif 10 60 1 30 37 67 275 331 606 90. 4% 70. 8 361, 600
37|k HER (&) 1% 10 60 SH 11 22 33 55. 0% 82 174 256 77. 6% 69. 1 180, 100
38| B HER (UK) FF-Hi 10 60 3 23 32 55 91. 7% 207 274 481 87. 5% 69.0 295, 100
39k HER OK) 1% 10 60 SN 24 27 51 85. 0% 212 241 453 88. 8% 69.9 277, 400
Ta 7 H— v RS TG RG X Ho gk 3 4t \
40 4 24 SN 10 28 38 19 96 115 75. 7% 51.0 0
i)
417 —vde” 4 v b R AMMEHRER 2 2 30 8 1 24 25 1 24 25 50. 0% 51.0 0
F—de7 4 v NFRA B 5 28 33 66. 0% 148, 100
42 10 50 42 223 265 80. 3% 63. 8
INEIESS 0 0 0
43\ 2 o 72 D AKX 10 72 E 9 37 46 63. 9% 76 312 388 84. 3% 63.6 257, 700
AT OKIKE LD Ta—RA 10 10 SGER 1 6 7 8 40 48 68. 6% 72.6 17, 500
A5\ KK T — L« FHIKE a2 — 2D 10 10 ik 2 11 13 18 95 113 86. 9% 66.0 31, 800
A6|F 1 DAKE 0 — L« KX a— 2D 10 10 8 4 8 12 33 58 91 75. 8% 66. 0 25, 750
ATV 1% DIKIKBIKE 22— A 10 10 SGiNH 4 12 16 36 93 129 80. 6% 68. 1 39, 600
4817 A FKIKEKIE=Z — A 10 10 GiN 1 5 6 3 41 44 73. 3% 66. 3 14, 800
49| 1% D KKK =2 — R 10 10 SN 4 10 14 20 69 89 63. 6% 62. 2 34, 600
3/3°_—
PGiN zmE (N) E~RSINE (N) R S|
No. #H = 4 145 EE Ikt
INEIES B L8 it FHOA SR B 'S i HEEE | 4F in
T Ty YA R (k) B 2 37 39 78. 0% 176, 300
50 10 50 19 292 311 79. 7% 62. 4
1 [A] 4% 0 8 8 5, 600
T Ty A X (1) PGiNC 5 48 53 - 251, 100
51 10 50 40 365 405 76. 4% 58. 4
INEIE:S 0 9 9 6, 300
2lv=77=287 vy 77 v 7a—= (k) 10 10 8 8 4 12 78 38 116 96. 7% 68. 2 111, 000
537 =227y 77y Fa—x (k) 10 10 8 6 7 13 51 58 109 83. 8% 59. 3 125, 000
54lv =77 =287 v 77 v 7Fa—= (K) 10 10 ik 7 6 13 67 56 123 94. 6% 67.8 118, 000
557 =27 RN 23—z (k) 10 10 E 8 7 15 69 63 132 88. 0% 61.4 146, 000
56| =7 F = AHLE a— A (K) 10 10 ikt 2 12 14 20 97 117 83. 6% 57.7 135, 900
STl =2bEa—2 (&) 10 10 G N 1 9 10 8 78 86 86. 0% 45. 1 99, 000
lr=22F7 v 77y Fa—x (4) 10 10 8 5 10 15 48 87 135 90. 0% 61.9 141, 900
A B 0. 0%
59 4 100 20 315 335 0. 0% 51.0
NEES 20 315 335 133, 600
BT A %A AN 18 0 0 0
60 4 - 2 127 129 0. 0% 51.0
NEES 2 127 129 38, 700
R —& 2 GiN 0 0 0 0. 0%
61 3 15 0 38 38 0. 0% 34. 8
NEE:S 0 38 38 38, 000
& 3 302 1,882 | 2,184 2,253 110,469 (12,722 7,305,170
X [NU—Zv7)b—LEBE] [Hx KKl HMEmEREXRZE| (. FREREECTHRELET, RS - 65mA L
HKANRYKEDOVWTIE ZANRYMNETE, ARV MNREEE L THERSELE T, EBAHZR  50%Kiin
RBIHES M) 1EX EBX DX | IEX | EX | EX X | BBX | Mm% Z D1t &t
2 7
112 1,393 1,880 5,684 |2,424 120 591 21 463 34 12,722




T 28 GE KRE RR—UHESIRRRSE 20331

SHWSHEE K& 1B 1/3X=Y

\ PGiNa znzE (N) E~RSINE (N) R S|
No. o = 4 [E1Eq =l Skt
INEIES i L8 at FHOA SR B 'S i HER | £ #n
Wb o 7= 0 R Gkt 3 36 39 - 78, 000
1 10 30 - 28 278 306 78. 5% 70. 6
1 [5]75 0 0 0
SFURL AT YA R B 0 15 15 50. 0% 68, 500
2 10 30 — 0 136 136 90. 7% 66. 8
1 8] 0 1 1 600
NG AA—F 4 R —3 3 iR 0 18 18 60. 0% 68, 400
3 10 30 — 0 164 164 91. 1% 62.0
1 [A]% 0 6 6 3, 000
FET 7 A4 X SCiNH 0 21 21 70. 0% 97, 000
4 10 30 — 2 166 168 80. 0% 57.3
NEE: 2 8 10 6, 000
5|kIEa B (%) 10 30 SGER 8 24 32 63 190 253 79. 1% 48. 8 159, 000
6|Z UMB A /K 10 30 SE 1 30 31 3 264 267 86. 1% 50. 7 154, 000
XA dera aE P ¥ A4 X SN 2 15 17 56. 7% 47,700
7 7 30 - 11 89 100 84. 0% 67.0
1 715 0 0 0
sl &y~ FiESH 10 10 ikt 7 13 20 - 63 112 175 87. 5% 7.9 100, 000
9|/kHE = #19 10 30 SN 0 23 23 76. 7% 0 165 165 71. 7% 44. 4 115, 000
10| 7K K8 = 20 10 30 ik 1 28 29 96. 7% 7 222 229 79. 0% 45. 6 144, 500
11|ZUMB A AKIE 10 30 ik 1 38 39 6 315 321 82. 3% 50. 4 190, 500
12[IZC D TOICWRT-REY (v A& R) 10 20 ik 0 13 13 65. 0% 0 112 112 86. 2% 10. 0 39, 000
13| AW 3 5 (%) 10 30 A 3 34 37 27 262 289 78. 1% 44. 3 185, 000
14|ZUMBAZ—)L R 10 30 SN 2 34 36 15 280 295 81. 9% 61.3 170, 500
5lNE VN 2o — kKL —=27% 10 30 R 4 30 34 34 246 280 82. 4% 66. 1 125, 600
N by (B) SGER 0 11 11 36. 7% 48, 500
16 10 30 — 0 86 86 78. 2% 53.0
NEE: 0 9 9 5, 400
2n—&a7 hlL—=V7 SN 6 27 33 - 157, 000
17 10 30 38 191 229 69. 4% 50. 2
NEES 2 1 3 1, 800
2/3R—
SGiN znE (N) FE_ZANEE (N) R
No. = 4 [ £ E B 2Nk
INEE:S B 58 it FHA SR U % 2 HE=R | £
WEWET7 4w bR RA B 10 36 46 - 126, 900
18 10 30 — 84 297 381 82. 8% 67.8
1 A5 0 1 1 300
VA AV SN 0 24 24 80. 0% 114, 000
19 10 30 p— 0 195 195 81. 3% 60. 2
1 8] 0 0 0
ZUHTHOTTH LA PN 0 27 27 90. 0% 125, 500
20 10 30 — 0 221 221 81. 9% 62.0
1 [F5% 0 0 0
ReFToH R ks 1 25 26 86. 7% 116, 500
21 10 30 — 9 189 198 76. 2% 46. 4
1 3] 0 0 0
K (XA F—X 2 R) 18 1 22 23 76. 7% 65, 400
22 10 30 = 10 195 205 89. 1% 62. 8
1 A% 0 0 0
Ty A EFRYA Gk 0 12 12 40. 0% 44, 800
23 10 30 - 0 110 110 91. 7% 64. 1
1 [F]55 0 0 0
ulrsF 4 = 11 30 E 2 29 31 103. 3% 20 234 254 74. 5% 58. 4 151, 000
N——Ky by (BARIH) KR ik 1 20 21 70. 0% 101, 500
25 10 30 - 10 163 173 82. 4% 59. 2
1 [A]4 0 3 3 1, 800
N——Ky by (BARIH) KR ik 0 26 26 86. 7% 128, 500
26 10 30 - 0 220 220 84. 6% 56. 1
1 [A]5 0 6 6 3, 600
N k(&) B 0 24 24 80. 0% 119, 500
27 10 30 — 0 216 216 90. 0% 47.0
1 [A]5 0 11 11 6, 600
28|V 7 h=T7 s A (B) EBEHMARS 1 50 SGiNHS 0 0 0 0. 0% 0 0 0 0. 0% 0.0 0
VAZANE A= R/ 0= W 0 26 26 52. 0% 92, 800
29 10 50 - 1 220 221 85. 0% 59. 0
1 [F]55 1 7 8 4, 800
30(|=7 v & AR 7 Y- mEHAER S 1 50 o 0 0 0 0. 0% 0 0 0 0. 0% 0.0 0
7 a&RT Y SGiN 8 36 44 88. 0% 175, 200
31 10 50 — 70 295 365 83. 0% 46. 0
MEE: 2 15 17 10, 200
32| — VR — L HEK 10 40 iR 7 6 13 32. 5% 51 25 76 76. 0% 70.5 72, 600
3/3R—Y
‘ PGiN iz (N) HE~RSINE (N) R S|
No. H OE 4 [EIfxg =l ZEk
IREIEZS B L8 it FIA SR 5B S ) HESE | £
33| FLE - IR EHER 10 40 CiN 14 11 25 62. 5% 120 88 208 83. 2% 63. 8 132, 000
34| Bk HER (4) a1 10 60 SGiNH 33 32 65 - 290 275 565 86. 9% 69. 1 352, 400
35|k HEK (4) F % 10 60 @ 9 22 31 51. 7% 66 185 251 81. 0% 68. 6 171, 000
36| Bk HER (K) a1 10 60 SN 25 28 53 88. 3% 212 260 472 89. 1% 69. 5 290, 400
37|k HER OK) 1% 10 60 SH 20 24 44 73. 3% 174 219 393 89. 3% 70. 0 242,400
7T = 7 RERE UL R X R 2 )
38 2 24 ikt 4 26 30 4 26 30 50. 0% 51.0 0
)
F—de7 4 v PR A B 5 21 26 86. 7% 118, 500
39 10 30 - 46 181 227 87. 3% 62. 8
1 A4 0 2 2 1, 400
40| I A 72 D KK 10 72 ik 8 27 35 48. 6% 64 236 300 85. 7% 65. 7 197, 400
41 FHOKIKB LD Ta—= 10 10 Gl 0 0 0 0. 0% 0 0 0 0. 0% 0.0 0
22| OKKA T — )L« FHIKE 23— 2D 10 10 8 2 9 11 15 83 98 89. 1% 64. 1 27, 500
A3|FE % DAKE 0 — L« KX a2 — 2D 10 10 8 6 5 11 38 45 83 75. 5% 67.2 27, 500
44| 1% DIKIKBIK & 22— A 10 10 SGINH 4 11 15 31 98 129 86. 0% 66. 3 37, 500
45| A R AKIKEKE 2 — & 10 10 B 1 7 8 80. 0% 6 59 65 81.3% 66. 1 20, 000
46| 1% D KKK IE =2 — & 10 10 SN 5 7 12 - 36 40 76 63. 3% 65. 4 30, 000
T Ty YA R (k) B 2 27 29 58. 0% 136, 000
47 10 50 — 16 222 238 82. 1% 60. 4
1 A4 0 5 5 3, 500
T Ty YA R (+) B 4 44 48 96. 0% 227, 500
48 10 50 — 29 314 343 71. 5% 57.1
1 [A]% 1 1 2 1, 400
9|V =T F2ARTF v T T v T a—& (k) 10 10 ik 7 5 12 59 46 105 87. 5% 64.9 113, 000
50|57 =227 77y Fa—zx (k) 10 10 8 7 6 13 60 55 115 88. 5% 62. 1 125, 000
5llv=77=287 v 77 v 7a—= (K) 10 10 SN 9 5 14 84 45 129 92. 1% 65. 9 129, 000
5217 = A7 R Z2a—& (/) 10 10 E 9 6 15 74 58 132 88. 0% 60. 3 147, 000
B3lv=T7 T =AHLEa—A (K) 10 10 W 2 12 14 18 106 124 88. 6% 62.5 132, 000
AT =AM LEa— R (&) 10 10 8 1 11 12 6 97 103 85. 8% 45. 4 119, 000
55|75 =227 v 77y Fa—x (4) 10 10 8 8 10 18 74 90 164 91. 1% 61.0 171, 000
A ik 0 0 0 0. 0%
56 2 100 — 7 59 66 0. 0% 51.0
1 [8]5 7 59 66 26, 400
BT 421N ik 1 36 37 37. 0% 11, 100
57 2 100 ” 1 88 89 120. 3% 51.0
1 7] 0 52 52 15, 600
R —X R S 0 0 0 0. 0%
58 3 15 ” 0 18 18 0. 0% 34.9
1 [A]4 0 18 18 18, 000
& &t 269 | 1,320 | 1,589 2,082 1 8,851 110,933 6,450,000
HARYNIDWTIE, 2ARYMETHE, ARV NREEZEE LU TGRS LET, EBAAZER 1 50% 7R
T —— 1EX ERX DX | ITEX | EX | BEX X | EBX | mih Z D1t &t
X 25 B
97 1,164 1,701 4713 12,153 113 516 0 448 28 10,933




BHESHEE

EHBESHEE

SmEH & B N S B
H21 900 97 1,073 1,179 3,249
H22 1,505 0 2,016 1,447 4,968
H23 5,418 94 1,927 1,822 9,261 HiZ£1[E%
H24 2,125 629 2,293 1,917 6,964
H25 2,127 995 2,266 2,040 7,428
H26 2,014 1,084 2,249 1,682 7,029
H27 2,438 1,045 1,726 1,776 6,985
H28 2,083 962 2,184 1,589 6,818
6,000 10,000 9,261
\ 9,000
5,000 \ H2 1 8,000
4,000 2z 7,000
\ —H23 6,000
3,000 \ H2 4 5,000 ,968
—H25 4,000
2,000 \ CH2e 1000 - 3,249
1,000 AN ———— ~——H27 2,000 -
—H28 1,000 -
0 0 : : : : :
& E A % H21H22H23H24H25 H26 H27 H28
BHRESREE
SmE#H & ] L\ P 5
H21 90 0] 115 150 355
H22 204 0 183 166 553
H23 520 475 418 492 1,905
H24 673 663 717 589 2,642
H25 601 510 615 454 2,180
800 3,000
2,642
700 —= 2,500

600

500 \\/ \ )

—H 2 1

—H 2 2

400

300

——H 2 3

—H24
H25

200 \
100

2,000

1,500

1,000

500 -

ER )
ShnEH & -] N 2 it
H21 6,846 272 7,005 6,846 20,969
H22 8,884 0 9,575 7,407 25,866
H23 5,426 280 9,399 8,765 23,870
H24 12,709 3,952 12,865 10,456 39,982 110,687
H25 12,762 5,998 14,281 11,832 44 873
H26 13,111 5,739 13,444 12,354 44,648
H27 12,914 7,909 10,741 11,539 43,103
H28 13,259 7,055 12,722 10,993 44,029
155,560
16,000 60,000
R / - —H 2 50,000 44,873 44,648
12,000
' —H 2 2 40,000 39,982
10,000 - —H23
8,000 - ~< —H24 30,000 25866 —
6,000 / / —nes 20,000 - > ,
4,000 \ / / —oHz2e
—=H27 10,000 -
2,000  Ho2s
0 : 0 : . . .
= 4 3 H21 H22 H23 H24 H25 H26 H27 H28
WSS
ShEH & - X Z it
H21 711 0 834 1,280 2,825
H22 1,492 0 1,337 1,195 4,024
H23 2,306 2,392 2,452 2,529 9,679
H24 3,026 3,062 3,719 3,078 12,885 29,413
H25 3,486 3,147 3,033 2,964 12,630
4,000 16,000
3,500 14,000 12,885
\ / , 7630
3,000 —e” e \ 12,000 /
2,500 S i 10,000 9,679
—_—H22
2,000  H2s3 8,000
1,500 —H 2 4 6,000
\ /7 Hos 024
1,000 4,000 -
500 \\\// 2,000 -
0 0 - : : : :
& o = H21H22H23H24H25




BHBAAEE

FERMAR—YHBITHEZHBEBDHER

50000

45000

40000

35000

30000

25000

20000

15000

10000

5000

44,873
’ 44,648 12 102 43’969

45,195

39,982

25,869
23,870

20,969

10,857

1,0 1,10 1,0 1,88 2,02 2,12 1,9 1,99

H20 H21 H22 H23 H24 H25 H26 H27 H28

[ P=icd

FE =g REAH

H20 10,857
H21 1,014 20,969
H22 1,101 25,869
H23 1,075 23,870
H24 1,880 39,982
H25 2,023 44,873
H26 2,126 44,648
H27 1,977 43,103
H28 1,998 43,969
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